SOME PROPERTIES AND INEQUALITIES FOR *h*-GEOMETRICALLY CONVEX FUNCTIONS

BO ZHANG, BO-YAN XI AND FENG QI

Abstract. In the paper, the definition of h-geometrically convex functions is introduced, some properties of h-geometrically convex functions are studied, and several integral inequality for the newly defined functions are established.

1. Introduction

Throughout this paper, we use the following notations:

$$\mathbb{R}=(-\infty,\infty),\quad \mathbb{R}_0=[0,\infty),\quad \text{and}\quad \mathbb{R}_+=(0,\infty).$$

We first recite some definitions of various convex functions.

DEFINITION 1.1. A function $f: I \subseteq \mathbb{R} \to \mathbb{R}$ is said to be convex if

$$f(tx + (1 - t)y) \le tf(x) + (1 - t)f(y)$$
(1.1)

holds for all $x, y \in I$ and $t \in [0, 1]$.

DEFINITION 1.2. A function $f: I \subseteq \mathbb{R}_+ \to \mathbb{R}_+$ is said to be geometrically convex if

$$f(x^{t}y^{1-t}) \leq [f(x)]^{t} [f(y)]^{1-t}$$
(1.2)

holds for all $x, y \in I$ and $t \in [0, 1]$.

DEFINITION 1.3. ([14, Definition 1.9]) A function $f : I \subseteq \mathbb{R}_+ \to \mathbb{R}_+$ is said to be *s*-geometrically convex if

$$f(x^{t}y^{1-t}) \leq [f(x)]^{t^{s}}[f(y)]^{(1-t)^{s}}$$
 (1.3)

for some $s \in (0,1]$, where $x, y \in I$ and $t \in [0,1]$.

DEFINITION 1.4. ([6, Definition 4]) Let $I, J \subseteq \mathbb{R}$ be intervals, $(0,1) \subseteq J$, $h: J \to \mathbb{R}_0$ be a non-negative function, and $h \not\equiv 0$. A function $f: I \to \mathbb{R}_0$ is called *h*-convex, or say, *f* belongs to the class SX(*h*, *I*), if *f* is non-negative and

$$f(tx + (1-t)y) \le h(t)f(x) + h(1-t)f(y)$$
(1.4)

for all $x, y \in I$ and $t \in [0, 1]$.

© CENN, Zagreb Paper JCA-03-09

Mathematics subject classification (2010): Primary 26A51; Secondary 26D15, 41A55. *Keywords and phrases*: property, *h*-geometrically convex function, inequality.

DEFINITION 1.5. ([6, Section 3]) Let *h* be a function defined on an interval $J \subseteq \mathbb{R}$. It is said to be super-multiplicative on *J* if

$$h(xy) \ge h(x)h(y) \tag{1.5}$$

is valid for all $x, y \in J$. If the inequality (1.5) reverses, then f is said to be a submultiplicative function on J.

For more information on notions of various convex functions and their Hermite-Hadamard type inequalities, please refer to recently published articles [1, 2, 3, 4, 5, 7, 8, 9, 10, 11, 12, 13, 15] and closely related references therein.

In this paper, we will introduce a new notion "h-geometrically convex function", study some basic properties of this kind of functions, and establish several inequalities of the newly introduced functions.

2. A new notion

We now introduce a new notion "h-geometrically convex function" as follows.

DEFINITION 2.1. Let $h: [0,1] \to \mathbb{R}_0$ and $h \neq 0$. A function $f: I \subseteq \mathbb{R}_+ \to \mathbb{R}_+$ is called *h*-geometrically convex, or say, *f* belongs to the class HGX(*h*,*I*), if

$$f(x^{t}y^{1-t}) \leqslant [f(x)]^{h(t)} [f(y)]^{h(1-t)}$$
(2.1)

for all $x, y \in I$ and $t \in [0,1]$. If the inequality (2.1) is reversed, then f is called h-geometrically concave and denoted by $f \in HGV(h,I)$.

REMARK 2.1. It is clear that

- 1. when $h(t) = t^s$ on [0,1], the *h*-geometrically convex functions become the *s*-geometrically convex functions;
- 2. when h(t) = t on [0,1], the *h*-geometrically convex functions become the geometrically convex functions.

REMARK 2.2. It is easy to show that the inequality (2.1) is equivalent to

$$\ln f\left(e^{t\ln x + (1-t)\ln y}\right) \leqslant h(t)\ln f\left(e^{\ln x}\right) + h(1-t)\ln f\left(e^{\ln y}\right) \tag{2.2}$$

for all $x, y \in I$ and $t \in [0, 1]$.

REMARK 2.3. The above Definition 2.1 was also independently introduced in the preprint [4, Definition 9].

3. Properties

We now discuss some properties of the h-geometrically convex functions.

THEOREM 3.1. Let $h: [0,1] \to \mathbb{R}_0$ and $f: I \subseteq \mathbb{R}_+ \to [1,\infty)$. Then $f \in HGX(h,I)$ if and only if $\ln f(e^u) \in SX(h, \ln I)$, where $\ln I \triangleq \{\ln x : x \in I\}$.

Proof. This follows from the inequality (2.2). \Box

THEOREM 3.2. Let $h: [0,1] \to \mathbb{R}_0$ and $f: I \subseteq \mathbb{R}_+ \to \mathbb{R}_+$. Then $f \in HGX(h,I)$ if and only if $\frac{1}{f} \in HGV(h,I)$.

Proof. If $f \in HGX(h, I)$, we have

$$f(x^{t}y^{1-t}) \leq [f(x)]^{h(t)}[f(y)]^{h(1-t)}$$

for $x, y \in I$ and $t \in [0, 1]$, so

$$[f(x^{t}y^{1-t})]^{-1} \ge [f(x)]^{-h(t)}[f(y)]^{-h(1-t)}$$

for all $x, y \in I$ and $t \in [0, 1]$, namely, $\frac{1}{t} \in HGV(h, I)$.

Similarly, if $\frac{1}{f} \in \text{HGV}(h, I)$, then $f \in \text{HGX}(h, I)$. Theorem 3.2 is proved. \Box

THEOREM 3.3. Let $h: [0,1] \to \mathbb{R}_0$, $f: I \subseteq \mathbb{R}_+ \to \mathbb{R}_+$, and $\varphi: J \subseteq \mathbb{R}_+ \to \varphi(J) \subseteq I$.

- 1. If $f \in HGX(h,I)$ is an increasing (or decreasing respectively) function on Iand φ is geometrically convex (or concave respectively) function on J, then $f \circ \varphi \in HGX(h,J)$.
- 2. If $f \in HGV(h,I)$ is an increasing (or decreasing respectively) function on Iand φ is geometrically convex (or concave respectively) function on J, then $f \circ \varphi \in HGV(h,J)$.

Proof. We only prove the case that $f \in HGX(h,I)$ is an decreasing function on I and φ is a geometrically concave function on J.

Since φ is a geometrically concave function on *J*, for all $x, y \in J$ and $t \in [0, 1]$, we have

$$\varphi(x^t y^{1-t}) \ge [\varphi(x)]^t [\varphi(y)]^{1-t}$$

Since f is an decreasing and h-geometrically convex function on I, we have

$$f\left(\varphi\left(x^{t}y^{1-t}\right)\right) \leqslant f\left(\left[\varphi(x)\right]^{t}\left[\varphi(y)\right]^{1-t}\right) \leqslant \left[f(\varphi(x))\right]^{h(t)}\left[f(\varphi(y))\right]^{h(1-t)}$$

for all $x, y \in J$ and $t \in [0,1]$, and then $f \circ \varphi \in HGX(h,J)$. Theorem 3.3 is thus proved. \Box

THEOREM 3.4. Let $h_i : [0,1] \to \mathbb{R}_0$ for i = 1,2 and $f : I \subseteq \mathbb{R}_+ \to \mathbb{R}_+$. If 1. either $h_2(t) \ge h_1(t)$ for $t \in [0,1]$, $f : I \subseteq \mathbb{R}_+ \to (0,1]$, and $f \in \operatorname{HGX}(h_2,I)$, 2. or $h_2(t) \le h_1(t)$ for $t \in [0,1]$, $f : I \subseteq \mathbb{R}_+ \to [1,\infty)$, and $f \in \operatorname{HGX}(h_2,I)$, then $f \in \operatorname{HGX}(h_1,I)$.

Proof. This is an easy consequence of Definition 2.1. \Box

COROLLARY 3.1. Let $h_i : [0,1] \to \mathbb{R}_0$ for i = 1, 2, ..., n and $f : I \subseteq \mathbb{R}_+ \to \mathbb{R}_+$. If

1. either
$$h(t) = \min\{h_i(t), 1 \leq i \leq n\}$$
 for $t \in [0,1]$ and $f: I \subseteq \mathbb{R}_+ \to (0,1]$,

2. or $h(t) = \max\{h_i(t), 1 \leq i \leq n\}$ for $t \in [0,1]$ and $f: I \subseteq \mathbb{R}_+ \to [1,\infty)$,

then $f \in HGX(h,I)$.

Proof. This follows from utilizing Theorem 3.4 and induction. \Box

THEOREM 3.5. Let $h: [0,1] \to \mathbb{R}_0$ and $f \in HGX(h,I)$.

1. If
$$h(t) + h(1-t) \ge 1$$
 for $t \in [0,1]$, then $f(x) \ge 1$ for $x \in I$;

2. If $h(t) + h(1-t) \leq 1$ for $t \in [0,1]$, then $f(x) \leq 1$ for $x \in I$.

Proof. Since $f \in HGX(h, I)$, we have

$$f(x) = f(x^{t}x^{1-t}) \leq [f(x)]^{h(t)}[f(x)]^{h(1-t)} = [f(x)]^{h(t)+h(1-t)},$$

which can be rearranged as

$$[f(x)]^{h(t)+h(1-t)-1} \ge 1.$$

By the property of the exponential function, Theorem 3.5 follows. \Box

4. Inequalities

THEOREM 4.1. Let $h: [0,1] \to \mathbb{R}_0$ and $f \in HGX(h,I)$ such that $1 \in I$. If

1. either h is a sub-multiplicative function on [0,1] *and f* : $I \rightarrow (0,1]$,

2. or h is a super-multiplicative function on [0,1] and $f: I \to [1,\infty)$,

then, for all $\alpha, \beta > 0$ and $x, y \in I$, with $\alpha + \beta = \gamma \leq 1$, we have

$$f\left(x^{\alpha}y^{\beta}\right) \leqslant [f(x)]^{h(\alpha)} [f(y)]^{h(\beta)} [f(1)]^{h(\alpha(1-\gamma)/\gamma) + h(\beta(1-\gamma)/\gamma)}.$$
(4.1)

Specially, if f(1) = 1, then

$$f\left(x^{\alpha}y^{\beta}\right) \leqslant [f(x)]^{h(\alpha)}[f(y)]^{h(\beta)}.$$
(4.2)

Proof. If $h: [0,1] \to \mathbb{R}_0$ is a sub-multiplicative function and $f: I \to (0,1]$, let $\lambda = \frac{\alpha}{\gamma}$, then

$$\begin{split} f(x^{\alpha}y^{\beta}) &= f(x^{\lambda\gamma}y^{(1-\lambda)\gamma}) \leqslant [f(x^{\gamma})]^{h(\lambda)} [f(y^{\gamma})]^{h(1-\lambda)} \\ &\leqslant \{[f(x)]^{h(\gamma)} [f(1)]^{h(1-\gamma)}\}^{h(\lambda)} \{[f(y)]^{h(\gamma)} [f(1)]^{h(1-\gamma)}\}^{h(1-\lambda)} \\ &\leqslant [f(x)]^{h(\lambda\gamma)} [f(y)]^{h((1-\lambda)\gamma)} [f(1)]^{h((\lambda\gamma)+h((1-\lambda)(1-\gamma))} \\ &= [f(x)]^{h(\alpha)} [f(y)]^{h(\beta)} [f(1)]^{h(\alpha(1-\gamma)/\gamma)+h(\beta(1-\gamma)/\gamma)} \end{split}$$

for $x, y \in I$. Specially, if f(1) = 1, we can obtain the inequality (4.2) easily. The proof of Theorem 4.1 is complete. \Box

THEOREM 4.2. Let $h: [0,1] \to \mathbb{R}_0$, $f \in HGX(h,I)$, and $\lambda_i > 0$ with $\sum_{i=1}^n \lambda_i = 1$. If

1. either h is a sub-multiplicative function on [0,1] *and f* : $I \rightarrow (0,1]$ *,*

2. or h is a super-multiplicative function on [0,1] and $f: I \to [1,\infty)$,

then, for all $x_i \in I$ and i = 1, 2, ..., n, we have

$$f\left(\prod_{i=1}^{n} x_{i}^{\lambda_{i}}\right) \leqslant \prod_{i=1}^{n} [f(x_{i})]^{h(\lambda_{i})}.$$
(4.3)

Proof. When n = 2, from Definition 2.1, we have

$$f\left(x_1^{\lambda_1}x_2^{\lambda_2}\right) \leqslant [f(x_1)]^{h(\lambda_1)}[f(x_2)]^{h(\lambda_2)}$$

for $x_1, x_2 \in I$. So the inequality (4.3) holds for n = 2.

Suppose that the inequality (4.3) holds for n = k, i.e.,

$$f\left(\prod_{i=1}^{k} x_{i}^{\lambda_{i}}\right) \leq \prod_{i=1}^{k} [f(x_{i})]^{h(\lambda_{i})}$$

for $x_i \in I$ and i = 1, 2, ..., k. By this hypothesis, it follows that, when n = k+1, putting $\Lambda_k = \sum_{i=1}^k \lambda_i$ gives

$$f\left(\prod_{i=1}^{k+1} x_i^{\lambda_i}\right) = f\left(x_{k+1}^{\lambda_{k+1}}\left(\prod_{i=1}^k x_i^{\lambda_i}\right)\right) = f\left(x_{k+1}^{\lambda_{k+1}}\left(\prod_{i=1}^k x_i^{\lambda_i/\Lambda_k}\right)^{\Lambda_k}\right)$$
$$\leqslant [f(x_{k+1})]^{h(\lambda_{k+1})} \left[f\left(\prod_{i=1}^k x_i^{\lambda_i/\Lambda_k}\right)\right]^{h(\Lambda_k)} = [f(x_{k+1})]^{h(\lambda_{k+1})} \prod_{i=1}^k [f(x_i)]^{h(\lambda_i/\Lambda_k)h(\Lambda_k)}.$$

Since h is a sub-multiplicative function on [0,1] and $f: I \to (0,1]$, or h is a supermultiplicative function on [0,1] and $f: I \to [1,\infty)$, we have

$$f\left(\prod_{i=1}^{k+1} x_i^{\lambda_i}\right) \leqslant [f(x_{k+1})]^{h(\lambda_{k+1})} \prod_{i=1}^k [f(x_i)]^{h(\lambda_i/\Lambda_k)h(\Lambda_k)} \leqslant \prod_{i=1}^{k+1} [f(x_i)]^{h(\lambda_i)}$$

for $x_i \in I$ and i = 1, 2, ..., n. Equivalently speaking, when n = k + 1, the inequality (4.3) holds. By induction, the proof of Theorem 4.2 is complete. \Box

THEOREM 4.3. Let $h: [0,1] \to \mathbb{R}_0$ and $f: I \subseteq \mathbb{R}_+ \to \mathbb{R}_+$ satisfying $f \in HGX(h_1, [a,b])$ and $f \in L([a,b])$, where $a, b \in I$ with 0 < a < b. If

1. either
$$h(t) \ge t$$
 for $t \in [0,1]$ and $f: [a,b] \to (0,1]$.

2. or
$$h(t) \leq t$$
 for $t \in [0,1]$ and $f : [a,b] \rightarrow [1,\infty)$,

then

$$\frac{1}{\ln b - \ln a} \int_{a}^{b} \frac{f(x)}{x} \,\mathrm{d}x \leqslant L(f(a), f(b)) \tag{4.4}$$

and

$$\frac{1}{\ln b - \ln a} \int_{a}^{b} f(x) \,\mathrm{d}x \leqslant L(af(a), bf(b)),\tag{4.5}$$

where L(u,v) is the logarithmic mean defined by

$$L(u,v) = \begin{cases} \frac{u-v}{\ln u - \ln v}, & u \neq v; \\ u, & u = v. \end{cases}$$
(4.6)

Proof. Let $x = a^{1-t}b^t$ for $0 \le t \le 1$. Using the *h*-geometric convexity of *f* on [a,b], either utilizing $h(t) \ge t$ for $t \in [0,1]$ and $f: I \subseteq \mathbb{R}_+ \to (0,1]$, or employing $h(t) \le t$ for $t \in [0,1]$ and $f: I \subseteq \mathbb{R}_+ \to [1,\infty)$, we obtain

$$\frac{1}{\ln b - \ln a} \int_{a}^{b} \frac{f(x)}{x} \, \mathrm{d}x = \int_{0}^{1} f\left(a^{1-t}b^{t}\right) \, \mathrm{d}t \leqslant \int_{0}^{1} [f(a)]^{h(1-t)} [f(b)]^{h(t)} \, \mathrm{d}t$$
$$\leqslant \int_{0}^{1} [f(a)]^{1-t} [f(b)]^{t} \, \mathrm{d}t = L(f(a), f(b))$$

and

$$\frac{1}{\ln b - \ln a} \int_{a}^{b} f(x) \, \mathrm{d}x = \int_{0}^{1} a^{1-t} b^{t} f\left(a^{1-t}b^{t}\right) \, \mathrm{d}t \leqslant \int_{0}^{1} a^{1-t} b^{t} [f(a)]^{h(1-t)} [f(b)]^{h(t)} \, \mathrm{d}t$$
$$\leqslant \int_{0}^{1} a^{1-t} b^{t} [f(a)]^{1-t} [f(b)]^{t} \, \mathrm{d}t = L(af(a), bf(b)).$$

The proof of Theorem 4.3 is complete. \Box

COROLLARY 4.1. Under conditions of Theorem 4.3, if h(t) = t, then

$$\frac{1}{\ln b - \ln a} \int_{a}^{b} \frac{f(x)}{x} \mathrm{d}x \leqslant L(f(a), f(b))$$
(4.7)

and

$$\frac{1}{\ln b - \ln a} \int_{a}^{b} f(x) \,\mathrm{d}x \leqslant L(af(a), bf(b)). \tag{4.8}$$

THEOREM 4.4. Let $h_i : [0,1] \to \mathbb{R}_0$ for i = 1,2 and $f,g : I \subseteq \mathbb{R}_+ \to \mathbb{R}_+$ satisfying $f \in HGX(h_1, [a,b])$, $g \in HGX(h_2, [a,b])$, and $fg \in L([a,b])$, where $a, b \in I$ with 0 < a < b. If

1. either
$$\min\{h_1(t), h_2(t)\} \ge t$$
 for $t \in [0, 1]$ and $f, g : [a, b] \to (0, 1]$,

2. or
$$\max\{h_1(t), h_2(t)\} \leq t$$
 for $t \in [0,1]$ and $f, g : [a,b] \to [1,\infty)$,

then

$$\frac{1}{\ln b - \ln a} \int_{a}^{b} \frac{f(x)}{x} g(x) \,\mathrm{d}x \leqslant L(f(a)g(a), f(b)g(b)) \tag{4.9}$$

and

$$\frac{1}{\ln b - \ln a} \int_{a}^{b} f(x)g(x) \,\mathrm{d}x \leqslant L(af(a)g(a), bf(b)g(b)), \tag{4.10}$$

where L(u, v) is defined as in (4.6).

COROLLARY 4.2. Under conditions of Theorem 4.4, if h(t) = t, then

$$\frac{1}{\ln b - \ln a} \int_{a}^{b} \frac{f(x)}{x} g(x) \,\mathrm{d}x \leqslant L(f(a)g(a), f(b)g(b)) \tag{4.11}$$

and

$$\frac{1}{\ln b - \ln a} \int_{a}^{b} f(x)g(x) \,\mathrm{d}x \leqslant L(af(a)g(a), bf(b)g(b)). \tag{4.12}$$

Acknowledgements.

The authors appreciate the anonymous referees for their helpful corrections to and valuable comments on the original version of this paper.

This work was supported in part by the NNSF of China under Grant No. 11361038 and by the Foundation of the Research Program of Science and Technology at Universities of Inner Mongolia Autonomous Region under Grant No. NJZY13159, China.

REFERENCES

- R.-F. BAI, F. QI, AND B.-Y. XI, Hermite-Hadamard type inequalities for the m- and (α,m)-logarithmically convex functions, Filomat 27 (2013), no. 1, 1–7, available online at http://dx.doi.org/10.2298/FIL1301001B.
- [2] S.-P. BAI AND F. QI, Some inequalities for $(s_1,m_1) (s_2,m_2)$ -convex functions on the co-ordinates, Glob. J. Math. Anal. 1 (2013), no. 1, 22–28.
- [3] S.-P. BAI, S.-H. WANG, AND F. QI, Some Hermite-Hadamard type inequalities for n-time differentiable (α,m)-convex functions, J. Inequal. Appl. 2012, 2012: 267, 11 pages, available online at http://dx.doi.org/10.1186/1029-242X-2012-267.
- [4] M. E. ÖZDEMIR, M. TUNÇ, AND M. GÜRBÜZ, Definitions of h-logaritmic, h-geometric and hmulti convex functions and some inequalities related to them, available online at http://arxiv.org/abs/1211.2750.

- [5] Y. SHUANG, H.-P. YIN, AND F. QI, Hermite-Hadamard type integral inequalities for geometricarithmetically s-convex functions, Analysis (Munich) 33 (2013), no. 2, 197–208, available online at http://dx.doi.org/10.1524/anly.2013.1192.
- [6] S. VAROŠANEC, On h-convexity, J. Math. Anal. Appl. 326 (2007), no. 1, 303–311, available online at http://dx.doi.org/10.1016/j.jmaa.2006.02.086.
- [7] B.-Y. XI, R.-F. BAI, AND F. QI, Hermite-Hadamard type inequalities for the m- and (α,m)geometrically convex functions, Aequationes Math. 184 (2012), no. 3, 261–269, available online at http://dx.doi.org/10.1007/s00010-011-0114-x.
- [8] B.-Y. XI AND F. QI, Hermite-Hadamard type inequalities for functions whose derivatives are of convexities, Nonlinear Funct. Anal. Appl. 18 (2013), no. 2, 163–176.
- [9] B.-Y. XI AND F. QI, Some Hermite-Hadamard type inequalities for differentiable convex functions and applications, Hacet. J. Math. Stat. 42 (2013), no. 3, 243–257.
- [10] B.-Y. XI AND F. QI, Some inequalities of Hermite-Hadamard type for h-convex functions, Adv. Inequal. Appl. 2 (2013), no. 1, 1–15.
- [11] B.-Y. XI, S.-H. WANG, AND F. QI, *Properties and inequalities for the h- and* (*h*,*m*)*-logarithmically convex functions*, Creat. Math. Inform. (2013), no. 2, in press.
- [12] B.-Y. XI, Y. WANG, AND F. QI, Some integral inequalities of Hermite-Hadamard type for extended (s,m)-convex functions, Transylv. J. Math. Mechanics 5 (2013), no. 1, 69–84.
- [13] T.-Y. ZHANG, A.-P. JI, AND F. QI, Integral inequalities of Hermite-Hadamard type for harmonically quasi-convex functions, Proc. Jangieon Math. Soc. 16 (2013), no. 3, 399–407.
- [14] T.-Y. ZHANG, A.-P. JI, AND F. QI, On integral inequalities of Hermite-Hadamard type for sgeometrically convex functions, Abstr. Appl. Anal. 2012 (2012), Article ID 560586, 14 pages, available online at http://dx.doi.org/10.1155/2012/560586.
- [15] T.-Y. ZHANG, A.-P. JI, AND F. QI, Some inequalities of Hermite-Hadamard type for GA-convex functions with applications to means, Matematiche (Catania) 68 (2013), no. 1, 229–239, available online at http://dx.doi.org/10.4418/2013.68.1.17.

(Received May 21, 2013)

Bo Zhang College of Mathematics Inner Mongolia University for Nationalities Tongliao City, Inner Mongolia Autonomous Region, 028043 China Hulin Senior Middle School Hulin City, Heilongjiang Province, 158400 China e-mail: bozhang2005@163.com, 137424380@gq.com

Bo-Yan Xi College of Mathematics Inner Mongolia University for Nationalities Tongliao City, Inner Mongolia Autonomous Region, 028043 China e-mail: baoyintu78@qq.com, baoyintu68@sohu.com, baoyintu78@imun.edu.cn

Feng Qi

Department of Mathematics College of Science Tianjin Polytechnic University Tianjin City, 300387 China e-mail: qifeng618@gmail.com, qifeng618@hotmail.com, qifeng618@gq.com http://qifeng618.wordpress.com